8 B 7
g @ ﬁ) Vermenigvuldig decimalen met machten van tien

Naam: Datum: Score:
2,642 x 100000 = 6,306 x 100 =
2,282 x 1000 = 6, 03 x 1000000 =
8,722 x 1000000 = 10, 692 x 1000 =
10, 659 x 100000 = 3,226 x 10 =
2,196 x 1000 = 1, 148 x 1000000 =
8,624 x 100 = 6, 767 x 100000 =
3, 844 x 1000000 = 10, 618 x 100000 =
6, 563 x 10000 = 9, 005 x 1000000 =
5,078 x 10000 = 3,406 x 1000000 =
6,112 x 100 = 4,085 x 10 =
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Vermenigvuldig decimalen met machten van tien

Naam:

2,642 x 100000 = 264200

2,282 x 1000 = 2282

8,722 x 1000000 = 8722000

10, 659 x 100000 = 1065900

2,196 x 1000 = 2196

8,624 x 100 = 862.4

3, 844 x 1000000 = 3844000

6, 563 x 10000 = 65630

5,078 x 10000 = 50780

6,112 x 100 = 611.2

Datum: Score:

6,306 x 100 = 630.6

6, 03 x 1000000 = 6030000

10, 692 x 1000 = 10692

3,226 x 10 =32.26

1, 148 x 1000000 = 1148000

6, 767 x 100000 = 676700

10, 618 x 100000 = 1061800

9, 005 x 1000000 = 9005000

3,406 < 1000000 = 3406000

4,085 x 10 =40.85
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